7,

. 9 )

////////////,////////,////////////////////{/////// METAL AND WOOD STUD AND FLANGES UP TO 1/16"
v 7/, 7

/// 72 / - 2 o ”
o ol

INSTALLATION  INSTRUCTIONS

MAC?
DOUBLE RUNS OF MC/AC CABLE FROM

M C / AC STRUCTURAL MEMBERS, WIRES & RQDS
SUPPORT

FOR CABLE SIZES

c@ 14-2 THROUGH 10-3

LISTED WITH GROUND
BN13

SEE REVERSE SIDE FOR
INSTALLATION INSTRUCTIONS

TNOTE. VACT SNAS APART FOR SNGLE CALE APPUCATONS
SIZING CHART ASSEMBLIES 0G NOT HAVE THS FEATURE.

UFC

NUMBER CADDY Fi5.

182856 PART NUMBER NO. | DESCRIPTICN ATTACHES MC/AC TO:
32673 MAC2 1 METAL OR WQQD STUD AND 1/16" FLANGE
33066 MAC2T 9 | SUPPORT 1 TQ 4 RUNS OF MC/AC CABLE FIR METAL STUD
33067 MAC2ATA 3 | ACOUSTICAL TEE
33068 MAC2BC 4 | 1/8° THRU 1/2° FLANGE
33069 MAC2245M 5 | 1/8° T™RU 1/4° FLANGE
33070 MAC2585M 5 | 5/16" THRU 1/2° FLANGE
33071 MAC29125M 5 | 1/2° THRU 3/4 FLANGE
33072 MAC2VF14 6 | 1/16" THRU 1/4* ¢ PURLIN OR VERTICAL FLANGE
33073 MAC2123 7 |ZPRN
33074 MAC2A0 § | CFFSET BRACKET
33075 MAC224 Q | 1/8" THRU 1/4® FLANGE — BOTIOM MOUNT ROTATES 360°
33076 MAC258 Q | 5/16" THRU 1/2" FLANGE — BOTTOM MOUNT ROTATES 30"
33077 MAC2912 Q | 9/16" THRU 3/4* FLANGE — BOTTOM MOUNT ROTATES 30"
33078 MAC24234 10 | #12 THRU 1/4° WIRE, PLAN CR THREADED ROD & 1/8” THRU 3/8" FLANGE
33079 MAC26234 10 | 3/8" PLAN OR THREADED ROD AND 3/8" THRU 9/16" FLANGE
33080 MACZFB 11 | THROUGH METAL STUD

NOTE: FASTENERS AND ASSEMBLIES ARE PACKED 1CC PER BOX

CF5242C



BOTTOM MOUNT FLANGE CLIPS

1. WITH HAMNER, TAP CLAMP ONTQ FLANGE

2. PRESS MG/AG CABLE INTD CLP,

SIZING CHART
UPC
NUMBER CADDY e
782856 PART NUMBER NO. | DESERPTION
33075 MAC224 9 | Boon NoONT a1/ FLAGE
33076 MAC258 9 | o oo s s U VI FLNGE
3077 MAC2912 9 | oo oo Rames o A

BEAM CLAMP

2. PRESS MC/AC CABLE INTQ GLIP.

SIZING CHART
1. PLACE ON BEAM AND TIGHTEN SCREW SECURELY. UPC
CADDY Fc.
(APPROX. 20 IN. L5S. TORAUE) ;‘auzhggi PART NUMBER NO. | DESCRETION
1 DR 2 RUNS OF MC/AC 10 1/E"
33068 MACZBC 4 | THRU 1/2° FLANGE
TEE GRID
FIG.3

1. PLACE INVERTED "I TAB AGAINST ACOUSTICAL TEE BAR.
2, PUSH CURVED TAHS BACK OVER ON OFFDSITE SIDE
OF TEE BAR AND PUSH DOWN.

3. PRESS MC/AC CABLE INTO CLIP.

SIZING CHART
uprC
NUMBER CADDY FIG.
782856 PART NUMBER NO. | DESCRPTION
T DR 2 RUNS OF MC/AC 10
33067 MACZATA 3 ACOUSTICAL TEE BAR




PARALLEL TO STUD AND UP TO 1/8" FLANGE, FLANGE APPLICATION

METAL AND WOQD STUDS “~ FOR SNCLE RUNG OF CAREL oo
“ VRN

Y LD

75

Vg

O

G 1
SIZING CHART
UPC
1. AP CLP ONIO METAL STUD OR SCREM Yoo PART NMBER ol Po—
2. PRESS MC/AC CABLE INTG CLIP, 32673 MAC2 1 ﬁAli/IiR :IIFIA?\%ESTUD
33066 MACZT 2 | e s e

THROUGH METAL STUD

3 OFFSET BRACKET
AG.11

NN

1. NAIL &R SCREW GLP TO STRUCTURE.
2. PRESS MC/AC CABLE INTO CLP.

SIZING CHART
URC
NUMBER CADDY 6.
782856~ PART NUMBER NO. | DESCRIPTIDN
1 OR Z RUNS OF MC/AC
33080 MACZFB 11 | ™RU METAL STUD /
OFFSET BRACKET FOR 1 OR 2
1. SCREW CLP TO METAL STUD AT PASSAGE WAY. 33074 MACZAO B | RUNS OF NG/AG GABLE
2. PRESS NC/AC CABLE INTO CLIP.

SIDE MOUNT FLANGE CLIPS

SIZING CHART
UPC
NUMBER CADDY F16.
TA2856— PART NUMBER NQ. | DESCRIPTION
1. WTH HAUMER, TAP CLIP TO FLANGE T OR 2 RUNS OF WC/AC 1A
2 TWIST CLIP INTO REQUIRED CRIENTATION. 33069 MAC2245M 3 | 1/8 THRY 1/47 FLAl{GE
1 OR 2 RUNS OF WC/AC 1O
33070 MACZ2585M 5 | s/16" HRU 1/ FLA/NGE
1 OR 2 RUNS OF MC/AC T
33071 MACZ9125M 5 T0 1/2" THRU 3/4" FLANGE




DROP WIRES, RODS AND FLANGES.

SQUEFZE
# " IASTENRR
1. SQUEEZE FASTENER.
2. CONNECT TOP EDAE OVER WIRE.
J. TWIST INTG PLACE.
4. RELEASE.
RDTATE
~— INTC PLACE \ §. PRESS MC/AC CABLE INTO CLIP.
SIZING CHART
UPC
NUMBER CADDY AG.
787856 PART NUMBER NO. | pEsCRIPTION
f12 THRU 1/4' WRE, PLAIN CR THREADED ROD &
33078 MAC24734 10 | 1/8° THRY 3/8™ FLANGE FOR 1 OR 2 RUNS WC/AC
E/E' PLAN OR THREADEO ROD & .]/8' THRU 9/16'
33079 MAC26734 10 | FLANSE FOR 1 R 2 RUNS NG/AG

C & Z PURLIN

SIZING CHART
UPC
NUMBER CADDY FEG.
- E‘R/ESS FASTE/NER AGIANST FLANGE, TAP] STRAIGHT DOWN. RS il = :iflzms QF MC/AC TO 1/16" THRU 1/4
1/16° 70 1/4” FLANGE OR C PURLIN
2. PRESS NC/AC CABLE INTC CLIF. 33072 MAC2VF14 6 s E:R;INR&?SV;IEH;CL;ELAME
33073 MAC2123 7 |70 Z ARLN

3. PRESS MC/AC CABLE INTQ CLIP,

WARNING:

CADDY FASTENERS ARE INTENDED FOR INDROR USE IN NON-
CORROSIVE ENVIRONMENTS ONLY. CADLY FASTENERS MUST BE USED
ONLY AS ILLUSTRATED. MISUSE QR MISKPFLICATKIN MAY CAUSE FAILURE
RESULTING IN PROPERTY DAMAGE OR BODILY INJURY.

SAFETY INSTRUCTIONS:  ALL SAFETY REGULATIONS

REQUIRED BY THE JOB SITE MUST BE OBSERVED. SPECIAL
ATTENTION SHOULD BE GIVEN TG THE FOLLOWING INSTRUCTIONS:
WHILE WORKING OR ON THE JOB SITE:

1. [CBSERVE ALL FEDERAL AND LOCAL
SAFETY REGULATIONS.

2. WEAR A HARD HAT.

3. WEAR SAFETY GLASSES WITH SIDE
SHIELDS.

4, WEAR GLOVES TO AVDID SPLINTERS
AND CUTS.

5. WHEN WORKING ABOVE GROUND
LEVEL, BE SURE THE STRUCTURE WILL
SUPPORT YOUR WHGHT.

6. BE AWARE OF PERSCNNEL WORKING
ABOVE AND BELCW.

) ®
ERICO ......

CFS242C

PRINTED IN USA.

ERICO FASTENING PRODUCTS
34600 SOLON ROAD
SOLON, OH 44139
CUSTOMER SERVICE: (8D0) 853-0878
FAX: {BOD) 462-4797
TECHNICAL SUPPORT:
(800) 25-CADDY (252-2339)



